
Sistemas de 4x4 

infinitas soluciones 

 

Solución única 

 

 

Sin solución 

 

 

 

 

 

 

 

 

 



Sistemas de 5x5 

       

infinitas soluciones 

x+y+z+w+t=2                                          
2x+2y+2z+2w+2t=4                                                     
6x-3y+8z+7w-t=3                                           -
2x+5y+4z+3w-12t=-13                                     -
4x+9y-3z+5w-t=8   

sin solución 

x+y+z+w+t=2                                          
2x+3y+5z+2w+6t=40                                                     
3x+4y+6z+3w+7t=2                                           -
2x+5y+4z+3w-12t=-13                                     -
4x+9y-3z+5w-t=8   

 

 

 

 

 

 

 

 



Sistemas de 6x6 

 

solución :  

 

Sistemas de 7x7 

 

Sistemas de 8x8 

 

 

 

 

 

 


